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First Summative Evaluation-2023

Class-V Full Marks-10
Subject- English Time-20 mins
Name : Roll No. Sec.

1. Read the text carefully and answer the following questions :

Gandhij visited different places to collect funds for India’s freedom struggle.
Once he visited Odisha. There he met an old woman. She could not stand
straight. Her hair was grey. Her san was torn. She went near Gandhij1 and
touched his feet. Then she gave him a coin. Jamanlal Bajaj’s duty was to keep the
funds.

He asked Gandhin for the coin, but Gandhij refused. Jamanlal was surprised.
“I keep thousands of rupees”, Jamanlal said.

A. Tick () the correct answer : 1x2 =2
1) Gandhij1 collected fund for— a) picnic b) freedom movement
c) Odisha.
1)  The old woman was— a) poor b) rich ¢) middle class.
B. Write ‘T’ for True and ‘F’ for False statements : 1x2 =2

1) Jamanlal Bajaj)’s duty was to spend the tund.

1)  Gandhirefused to give the money. D

Grammar
: ; 1
2.A. Put a tick (/) mark to choose the right answer : 5 2="1
1) They (am/1s / are) playing.
11) He (am/1s /are) a good painter.
1
B. Write a/an /the in the following blanks : s " 4 =2
1) — Sun was shining hot. I was under _tree, eating
apple. bird was singing.
Writing

3. Write a short paragraph about ° Your Parents’ or ‘Your School’. 3




Balluk High School (H.S.)

First Summative Evaluation-2023

Class-VI Full Marks-15
Subject- English Time-30 mins
Name: Roll No Sec

1. Read the text carefully and answer the following questions :

Poor Tuffy was shaken like a rat. “Don’t do that!” he shouted. “T am a
hero! I was putting out the fire.” Tuffy saw that he was speaking to a sailor doll
who was making porridge. “Can’t I cook in peace without you coming and
throwing water at me?”

“They won’t let me be a hero,” he sobbed. Soon after, he heard a cry and
looked around. There was a big bowl of water nearby. In it were swimming two
fine goldfish. And there was a small doll too!

“She’s fallen in! I’ll rescue her! This 1s a real adventure at last!”

A. Tick () the correct answer : 1x3 =3
1) Tufty wanted to be a — a) hero b) doll ¢) goldfish.
1)  Tuffy heard a cry from-- a) sailor doll b) rat ¢) bowl.
m) Tuffy was throwing water to — a) sailor doll b) small doll ¢) bowl.
B) Complete the sentences with right words from the text: 1x3 =3

1)  Sailor doll was making

1) Tuffy was to rescue

m) Tuffylooked around when he heard

Grammar

2.A. Fill in the blanks with correct form of verb : 1x3 =3
1) He a ball. (have)
1) We are a doll’s house. (make)
m) Lethim the work. (do)

B. Make sentences with following words : 1x2=2
1)  Sturdy-
Ans:
1) brag-

Ans :



or,

Ans:

VI-Eng(2)

Writing
Suppose you have recently experienced a bus journey. Write a paragraph
about the journey with the help of following points. 4

Date- the places - duration and time of journey - experience - your feeling.

Kunal Ghosh Kajal Ghosh
(Grand father) | (Grandmother)
I
Bimal-Nira Sufal- Milna
(Farmer) - (Homemaker) (Businessman) - (Homemaker)
Nirab Soma
(college student) (school student)

Suppose you are Soma. Write a short paragraph using the above family
chart.



